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Abstract:

This research focused on the theories of curl, Gradient and
divergence and its importance in the field of mathematics and
life in general. For answering this question we talked about
many concepts so the second chapter gave introduction about
the vectors and green and stocks theories and some examples in
the theories of curl, gradient and divergence and of How to find
it.



Every chapter begins with clear and obvious concepts and
definitions related to the title of the research. Focusing both on
the theories and principles and we added the physical

applications to these theories.

Therefore in the fifth chapter we introduced the findings and

recommendations for the study.
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